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x=logL

04 26s A&Y 630cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=143.7
A2=135.3
A3=0.8=t
A6=15550.0
A7=461.6
∆=0.518

A1=183.2
A2=62.7
A3=0.8=t
A6=9191.0
A7=176.4
∆=0.518
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log ∆L  Leuchtdichte-Diffenz-
renzschwelle
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x=logL

04 26s A&B 630cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=143.7
A2=135.3
A3=0.8=t
A6=15550.0
A7=461.6
∆=0.518

A1=117.7
A2=29.34
A3=0.8=t
A6=2762.0
A7=68.29
∆=0.518

UG300−3A_1
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x=logL

04 26s A&R 630cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=143.7
A2=135.3
A3=0.8=t
A6=15550.0
A7=461.6
∆=0.518

A1=143.5
A2=30.88
A3=0.8=t
A6=3544.0
A7=72.78
∆=0.518
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renzschwelle
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x=logL

04 26s A&G 630cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=143.7
A2=135.3
A3=0.8=t
A6=15550.0
A7=461.6
∆=0.518

A1=145.3
A2=47.34
A3=0.8=t
A6=5504.0
A7=124.2
∆=0.518
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log ∆L  Leuchtdichte-Diffenz-
renzschwelle
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x=logL

04 26s A&Y 63cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=115.8
A2=22.29
A3=0.8=t
A6=2065.0
A7=48.44
∆=1.325

A1=195.1
A2=24.03
A3=0.8=t
A6=3751.0
A7=53.2
∆=1.325
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log ∆L  Leuchtdichte-Diffenz-
renzschwelle
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x=logL

04 26s A&B 63cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=115.8
A2=22.29
A3=0.8=t
A6=2065.0
A7=48.44
∆=1.325

A1=130.89
A2=10.88
A3=0.8=t
A6=1139.0
A7=19.75
∆=1.325
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renzschwelle
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x=logL

04 26s A&R 63cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=115.8
A2=22.29
A3=0.8=t
A6=2065.0
A7=48.44
∆=1.325

A1=127.7
A2=8.6
A3=0.8=t
A6=878.4
A7=14.73
∆=1.325
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log ∆L  Leuchtdichte-Diffenz-
renzschwelle
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x=logL

04 26s A&G 63cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=115.8
A2=22.29
A3=0.8=t
A6=2065.0
A7=48.44
∆=1.325

A1=168.3
A2=17.36
A3=0.8=t
A6=2337.0
A7=35.41
∆=1.325
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x=logL

04 26s A&Y 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=81.89
A2=5.59
A3=0.8=t
A6=366.6
A7=8.6
∆=7.289

A1=188.1
A2=11.25
A3=0.8=t
A6=1693.0
A7=20.6
∆=7.289
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log ∆L  Leuchtdichte-Diffenz-
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x=logL

04 26s A&B 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=81.89
A2=5.59
A3=0.8=t
A6=366.6
A7=8.6
∆=7.289

A1=111.1
A2=4.79
A3=0.8=t
A6=426.1
A7=7.09
∆=7.289
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renzschwelle
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x=logL

04 26s A&R 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=81.89
A2=5.59
A3=0.8=t
A6=366.6
A7=8.6
∆=7.289

A1=112.5
A2=5.21
A3=0.8=t
A6=469.4
A7=7.88
∆=7.289
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renzschwelle
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x=logL

04 26s A&G 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=81.89
A2=5.59
A3=0.8=t
A6=366.6
A7=8.6
∆=7.289

A1=171.9
A2=10.69
A3=0.8=t
A6=1471.0
A7=19.34
∆=7.289
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renzschwelle
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x=logL

02 26s Y 63&6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=109.8
A2=21.21
A3=0.8=t
A6=1864.0
A7=45.53
∆=2.71

A1=188.1
A2=11.25
A3=0.8=t
A6=1693.0
A7=20.6
∆=2.677
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x=logL

02 26s B 63&6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=48.76
A2=10.75
A3=0.8=t
A6=419.5
A7=19.46
∆=0.049

A1=111.1
A2=4.79
A3=0.8=t
A6=426.1
A7=7.09
∆=0.556
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x=logL

02 26s R 63&6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=62.96
A2=9.37
A3=0.8=t
A6=472.4
A7=16.41
∆=0.255

A1=112.5
A2=5.21
A3=0.8=t
A6=469.4
A7=7.88
∆=6.4
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x=logL

AD 26s G 63&6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=77.73
A2=18.2
A3=0.8=t
A6=1133.0
A7=37.63
∆=0.116

A1=171.9
A2=10.69
A3=0.8=t
A6=1471.0
A7=19.34
∆=1.703
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x=logL

04 26s A&Y 630cd/m2; hyp2
log(L/∆L) = A1·A2·t ·L / (Lt+A2)2

A1=143.7
A2=135.3
A3=0.8=t
A6=15550.0
A7=461.6
∆=0.518

A1=183.2
A2=62.7
A3=0.8=t
A6=9191.0
A7=176.4
∆=0.518
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x=logL

04 26s A&B 630cd/m2; hyp2
log(L/∆L) = A1·A2·t ·L / (Lt+A2)2

A1=143.7
A2=135.3
A3=0.8=t
A6=15550.0
A7=461.6
∆=0.518

A1=117.7
A2=29.34
A3=0.8=t
A6=2762.0
A7=68.29
∆=0.518
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x=logL

04 26s A&R 630cd/m2; hyp2
log(L/∆L) = A1·A2·t ·L / (Lt+A2)2

A1=143.7
A2=135.3
A3=0.8=t
A6=15550.0
A7=461.6
∆=0.518

A1=143.5
A2=30.88
A3=0.8=t
A6=3544.0
A7=72.78
∆=0.518
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x=logL

04 26s A&G 630cd/m2; hyp2
log(L/∆L) = A1·A2·t ·L / (Lt+A2)2

A1=143.7
A2=135.3
A3=0.8=t
A6=15550.0
A7=461.6
∆=0.518

A1=145.3
A2=47.34
A3=0.8=t
A6=5504.0
A7=124.2
∆=0.518
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Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

04 26s A&Y 63cd/m2; hyp2
log(L/∆L) = A1·A2·t ·L / (Lt+A2)2

A1=115.8
A2=22.29
A3=0.8=t
A6=2065.0
A7=48.44
∆=1.325

A1=195.1
A2=24.03
A3=0.8=t
A6=3751.0
A7=53.2
∆=1.325
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x=logL

04 26s A&B 63cd/m2; hyp2
log(L/∆L) = A1·A2·t ·L / (Lt+A2)2

A1=115.8
A2=22.29
A3=0.8=t
A6=2065.0
A7=48.44
∆=1.325

A1=130.89
A2=10.88
A3=0.8=t
A6=1139.0
A7=19.75
∆=1.325
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x=logL

04 26s A&R 63cd/m2; hyp2
log(L/∆L) = A1·A2·t ·L / (Lt+A2)2

A1=115.8
A2=22.29
A3=0.8=t
A6=2065.0
A7=48.44
∆=1.325

A1=127.7
A2=8.6
A3=0.8=t
A6=878.4
A7=14.73
∆=1.325
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x=logL

04 26s A&G 63cd/m2; hyp2
log(L/∆L) = A1·A2·t ·L / (Lt+A2)2

A1=115.8
A2=22.29
A3=0.8=t
A6=2065.0
A7=48.44
∆=1.325

A1=168.3
A2=17.36
A3=0.8=t
A6=2337.0
A7=35.41
∆=1.325
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Empfindlichkeitsschwelle
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x=logL

04 26s A&Y 6,3cd/m2; hyp2
log(L/∆L) = A1·A2·t ·L / (Lt+A2)2

A1=81.89
A2=5.59
A3=0.8=t
A6=366.6
A7=8.6
∆=7.289

A1=188.1
A2=11.25
A3=0.8=t
A6=1693.0
A7=20.6
∆=7.289

UG301−2A_2

log(L/∆L) Leuchtdichte-Kontrast-
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x=logL

04 26s A&B 6,3cd/m2; hyp2
log(L/∆L) = A1·A2·t ·L / (Lt+A2)2

A1=81.89
A2=5.59
A3=0.8=t
A6=366.6
A7=8.6
∆=7.289

A1=111.1
A2=4.79
A3=0.8=t
A6=426.1
A7=7.09
∆=7.289

UG301−3A_2
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x=logL

04 26s A&R 6,3cd/m2; hyp2
log(L/∆L) = A1·A2·t ·L / (Lt+A2)2

A1=81.89
A2=5.59
A3=0.8=t
A6=366.6
A7=8.6
∆=7.289

A1=112.5
A2=5.21
A3=0.8=t
A6=469.4
A7=7.88
∆=7.289
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x=logL

04 26s A&G 6,3cd/m2; hyp2
log(L/∆L) = A1·A2·t ·L / (Lt+A2)2

A1=81.89
A2=5.59
A3=0.8=t
A6=366.6
A7=8.6
∆=7.289

A1=171.9
A2=10.69
A3=0.8=t
A6=1471.0
A7=19.34
∆=7.289
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x=logL

02 26s Y 63&6,3cd/m2; hyp2
log(L/∆L) = A1·A2·t ·L / (Lt+A2)2

A1=109.8
A2=21.21
A3=0.8=t
A6=1864.0
A7=45.53
∆=2.71

A1=188.1
A2=11.25
A3=0.8=t
A6=1693.0
A7=20.6
∆=2.677
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log(L/∆L) Leuchtdichte-Kontrast-
Empfindlichkeitsschwelle
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x=logL

02 26s B 63&6,3cd/m2; hyp2
log(L/∆L) = A1·A2·t ·L / (Lt+A2)2

A1=48.76
A2=10.75
A3=0.8=t
A6=419.5
A7=19.46
∆=0.049

A1=111.1
A2=4.79
A3=0.8=t
A6=426.1
A7=7.09
∆=0.556
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x=logL

02 26s R 63&6,3cd/m2; hyp2
log(L/∆L) = A1·A2·t ·L / (Lt+A2)2

A1=62.96
A2=9.37
A3=0.8=t
A6=472.4
A7=16.41
∆=0.255

A1=112.5
A2=5.21
A3=0.8=t
A6=469.4
A7=7.88
∆=6.4
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x=logL

AD 26s G 63&6,3cd/m2; hyp2
log(L/∆L) = A1·A2·t ·L / (Lt+A2)2

A1=77.73
A2=18.2
A3=0.8=t
A6=1133.0
A7=37.63
∆=0.116

A1=171.9
A2=10.69
A3=0.8=t
A6=1471.0
A7=19.34
∆=1.703
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04 26s A&Y 630cd/m2; hyp2
L/∆L = A1·A2·t ·L / (Lt+A2)2

A1=143.7
A2=135.3
A3=0.8=t
A6=15550.0
A7=461.6
∆=0.518

A1=183.2
A2=62.7
A3=0.8=t
A6=9191.0
A7=176.4
∆=0.518
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04 26s A&B 630cd/m2; hyp2
L/∆L = A1·A2·t ·L / (Lt+A2)2

A1=143.7
A2=135.3
A3=0.8=t
A6=15550.0
A7=461.6
∆=0.518

A1=117.7
A2=29.34
A3=0.8=t
A6=2762.0
A7=68.29
∆=0.518
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04 26s A&R 630cd/m2; hyp2
L/∆L = A1·A2·t ·L / (Lt+A2)2

A1=143.7
A2=135.3
A3=0.8=t
A6=15550.0
A7=461.6
∆=0.518

A1=143.5
A2=30.88
A3=0.8=t
A6=3544.0
A7=72.78
∆=0.518
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04 26s A&G 630cd/m2; hyp2
L/∆L = A1·A2·t ·L / (Lt+A2)2

A1=143.7
A2=135.3
A3=0.8=t
A6=15550.0
A7=461.6
∆=0.518

A1=145.3
A2=47.34
A3=0.8=t
A6=5504.0
A7=124.2
∆=0.518
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04 26s A&Y 63cd/m2; hyp2
L/∆L = A1·A2·t ·L / (Lt+A2)2

A1=115.8
A2=22.29
A3=0.8=t
A6=2065.0
A7=48.44
∆=1.325

A1=195.1
A2=24.03
A3=0.8=t
A6=3751.0
A7=53.2
∆=1.325
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Empfindlichkeitsschwelle

Lg=63cd/m2
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x=logL

04 26s A&B 63cd/m2; hyp2
L/∆L = A1·A2·t ·L / (Lt+A2)2

A1=115.8
A2=22.29
A3=0.8=t
A6=2065.0
A7=48.44
∆=1.325

A1=130.89
A2=10.88
A3=0.8=t
A6=1139.0
A7=19.75
∆=1.325

UG300−7A_3

L/∆L  Leuchtdichte-Kontrast-
Empfindlichkeitsschwelle

Lg=63cd/m2
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x=logL

04 26s A&R 63cd/m2; hyp2
L/∆L = A1·A2·t ·L / (Lt+A2)2

A1=115.8
A2=22.29
A3=0.8=t
A6=2065.0
A7=48.44
∆=1.325

A1=127.7
A2=8.6
A3=0.8=t
A6=878.4
A7=14.73
∆=1.325

UG300−8A_3

L/∆L  Leuchtdichte-Kontrast-
Empfindlichkeitsschwelle

Lg=63cd/m2
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x=logL

04 26s A&G 63cd/m2; hyp2
L/∆L = A1·A2·t ·L / (Lt+A2)2

A1=115.8
A2=22.29
A3=0.8=t
A6=2065.0
A7=48.44
∆=1.325

A1=168.3
A2=17.36
A3=0.8=t
A6=2337.0
A7=35.41
∆=1.325

UG301−1A_3

L/∆L  Leuchtdichte-Kontrast-
Empfindlichkeitsschwelle

Lg=6,3cd/m2
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x=logL

04 26s A&Y 6,3cd/m2; hyp2
L/∆L = A1·A2·t ·L / (Lt+A2)2

A1=81.89
A2=5.59
A3=0.8=t
A6=366.6
A7=8.6
∆=7.289

A1=188.1
A2=11.25
A3=0.8=t
A6=1693.0
A7=20.6
∆=7.289

UG301−2A_3

L/∆L  Leuchtdichte-Kontrast-
Empfindlichkeitsschwelle

Lg=6,3cd/m2
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x=logL

04 26s A&B 6,3cd/m2; hyp2
L/∆L = A1·A2·t ·L / (Lt+A2)2

A1=81.89
A2=5.59
A3=0.8=t
A6=366.6
A7=8.6
∆=7.289

A1=111.1
A2=4.79
A3=0.8=t
A6=426.1
A7=7.09
∆=7.289

UG301−3A_3

L/∆L  Leuchtdichte-Kontrast-
Empfindlichkeitsschwelle

Lg=6,3cd/m2
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x=logL

04 26s A&R 6,3cd/m2; hyp2
L/∆L = A1·A2·t ·L / (Lt+A2)2

A1=81.89
A2=5.59
A3=0.8=t
A6=366.6
A7=8.6
∆=7.289

A1=112.5
A2=5.21
A3=0.8=t
A6=469.4
A7=7.88
∆=7.289

UG301−4A_3

L/∆L  Leuchtdichte-Kontrast-
Empfindlichkeitsschwelle

Lg=6,3cd/m2
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x=logL

04 26s A&G 6,3cd/m2; hyp2
L/∆L = A1·A2·t ·L / (Lt+A2)2

A1=81.89
A2=5.59
A3=0.8=t
A6=366.6
A7=8.6
∆=7.289

A1=171.9
A2=10.69
A3=0.8=t
A6=1471.0
A7=19.34
∆=7.289

UG301−5A_3

L/∆L  Leuchtdichte-Kontrast-
Empfindlichkeitsschwelle

Lg=63cd/m2

Lg=6,3cd/m2
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x=logL

02 26s Y 63&6,3cd/m2; hyp2
L/∆L = A1·A2·t ·L / (Lt+A2)2

A1=109.8
A2=21.21
A3=0.8=t
A6=1864.0
A7=45.53
∆=2.71

A1=188.1
A2=11.25
A3=0.8=t
A6=1693.0
A7=20.6
∆=2.677

UG301−6A_3

L/∆L  Leuchtdichte-Kontrast-
Empfindlichkeitsschwelle

Lg=63cd/m2

Lg=6,3cd/m2

−3 −2 −1   0   1   2
  0

10

20

30

40

x=logL

02 26s B 63&6,3cd/m2; hyp2
L/∆L = A1·A2·t ·L / (Lt+A2)2

A1=48.76
A2=10.75
A3=0.8=t
A6=419.5
A7=19.46
∆=0.049

A1=111.1
A2=4.79
A3=0.8=t
A6=426.1
A7=7.09
∆=0.556

UG301−7A_3

L/∆L  Leuchtdichte-Kontrast-
Empfindlichkeitsschwelle

Lg=63cd/m2

Lg=6,3cd/m2
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x=logL

02 26s R 63&6,3cd/m2; hyp2
L/∆L = A1·A2·t ·L / (Lt+A2)2

A1=62.96
A2=9.37
A3=0.8=t
A6=472.4
A7=16.41
∆=0.255

A1=112.5
A2=5.21
A3=0.8=t
A6=469.4
A7=7.88
∆=6.4

UG301−8A_3

L/∆L  Leuchtdichte-Kontrast-
Empfindlichkeitsschwelle

Lg=63cd/m2

Lg=6,3cd/m2
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x=logL

AD 26s G 63&6,3cd/m2; hyp2
L/∆L = A1·A2·t ·L / (Lt+A2)2

A1=77.73
A2=18.2
A3=0.8=t
A6=1133.0
A7=37.63
∆=0.116

A1=171.9
A2=10.69
A3=0.8=t
A6=1471.0
A7=19.34
∆=1.703



UG300−7R

UG300−1A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme

Lg=630cd/m2
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x=logL

04 26s A&Y 630cd/m2; hyp2
T*  = A1·Lt / (Lt+A2)
A1=143.7
A2=135.3
A3=0.8=t
A6=15550.0
A7=461.6
∆=0.518

A1=183.2
A2=62.7
A3=0.8=t
A6=9191.0
A7=176.4
∆=0.518

UG300−2A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme

Lg=630cd/m2
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x=logL

04 26s A&B 630cd/m2; hyp2
T*  = A1·Lt / (Lt+A2)
A1=143.7
A2=135.3
A3=0.8=t
A6=15550.0
A7=461.6
∆=0.518

A1=117.7
A2=29.34
A3=0.8=t
A6=2762.0
A7=68.29
∆=0.518

UG300−3A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme

Lg=630cd/m2
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x=logL

04 26s A&R 630cd/m2; hyp2
T*  = A1·Lt / (Lt+A2)
A1=143.7
A2=135.3
A3=0.8=t
A6=15550.0
A7=461.6
∆=0.518

A1=143.5
A2=30.88
A3=0.8=t
A6=3544.0
A7=72.78
∆=0.518

UG300−4A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme

Lg=630cd/m2
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x=logL

04 26s A&G 630cd/m2; hyp2
T*  = A1·Lt / (Lt+A2)
A1=143.7
A2=135.3
A3=0.8=t
A6=15550.0
A7=461.6
∆=0.518

A1=145.3
A2=47.34
A3=0.8=t
A6=5504.0
A7=124.2
∆=0.518

UG300−5A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme

Lg=63cd/m2
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x=logL

04 26s A&Y 63cd/m2; hyp2
T*  = A1·Lt / (Lt+A2)
A1=115.8
A2=22.29
A3=0.8=t
A6=2065.0
A7=48.44
∆=1.325

A1=195.1
A2=24.03
A3=0.8=t
A6=3751.0
A7=53.2
∆=1.325

UG300−6A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme

Lg=63cd/m2
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x=logL

04 26s A&B 63cd/m2; hyp2
T*  = A1·Lt / (Lt+A2)
A1=115.8
A2=22.29
A3=0.8=t
A6=2065.0
A7=48.44
∆=1.325

A1=130.89
A2=10.88
A3=0.8=t
A6=1139.0
A7=19.75
∆=1.325

UG300−7A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme

Lg=63cd/m2
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x=logL

04 26s A&R 63cd/m2; hyp2
T*  = A1·Lt / (Lt+A2)
A1=115.8
A2=22.29
A3=0.8=t
A6=2065.0
A7=48.44
∆=1.325

A1=127.7
A2=8.6
A3=0.8=t
A6=878.4
A7=14.73
∆=1.325

UG300−8A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme

Lg=63cd/m2
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  0

20

40

60

80

x=logL

04 26s A&G 63cd/m2; hyp2
T*  = A1·Lt / (Lt+A2)
A1=115.8
A2=22.29
A3=0.8=t
A6=2065.0
A7=48.44
∆=1.325

A1=168.3
A2=17.36
A3=0.8=t
A6=2337.0
A7=35.41
∆=1.325

UG301−1A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme

Lg=6,3cd/m2
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x=logL

04 26s A&Y 6,3cd/m2; hyp2
T*  = A1·Lt / (Lt+A2)
A1=81.89
A2=5.59
A3=0.8=t
A6=366.6
A7=8.6
∆=7.289

A1=188.1
A2=11.25
A3=0.8=t
A6=1693.0
A7=20.6
∆=7.289

UG301−2A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme

Lg=6,3cd/m2
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x=logL

04 26s A&B 6,3cd/m2; hyp2
T*  = A1·Lt / (Lt+A2)
A1=81.89
A2=5.59
A3=0.8=t
A6=366.6
A7=8.6
∆=7.289

A1=111.1
A2=4.79
A3=0.8=t
A6=426.1
A7=7.09
∆=7.289

UG301−3A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme

Lg=6,3cd/m2
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x=logL

04 26s A&R 6,3cd/m2; hyp2
T*  = A1·Lt / (Lt+A2)
A1=81.89
A2=5.59
A3=0.8=t
A6=366.6
A7=8.6
∆=7.289

A1=112.5
A2=5.21
A3=0.8=t
A6=469.4
A7=7.88
∆=7.289

UG301−4A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme

Lg=6,3cd/m2
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x=logL

04 26s A&G 6,3cd/m2; hyp2
T*  = A1·Lt / (Lt+A2)
A1=81.89
A2=5.59
A3=0.8=t
A6=366.6
A7=8.6
∆=7.289

A1=171.9
A2=10.69
A3=0.8=t
A6=1471.0
A7=19.34
∆=7.289

UG301−5A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme

Lg=63cd/m2

Lg=6,3cd/m2
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x=logL

02 26s Y 63&6,3cd/m2; hyp2
T*  = A1·Lt / (Lt+A2)
A1=109.8
A2=21.21
A3=0.8=t
A6=1864.0
A7=45.53
∆=2.71

A1=188.1
A2=11.25
A3=0.8=t
A6=1693.0
A7=20.6
∆=2.677

UG301−6A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme

Lg=63cd/m2

Lg=6,3cd/m2
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x=logL

02 26s B 63&6,3cd/m2; hyp2
T*  = A1·Lt / (Lt+A2)
A1=48.76
A2=10.75
A3=0.8=t
A6=419.5
A7=19.46
∆=0.049

A1=111.1
A2=4.79
A3=0.8=t
A6=426.1
A7=7.09
∆=0.556

UG301−7A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme

Lg=63cd/m2

Lg=6,3cd/m2
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x=logL

02 26s R 63&6,3cd/m2; hyp2
T*  = A1·Lt / (Lt+A2)
A1=62.96
A2=9.37
A3=0.8=t
A6=472.4
A7=16.41
∆=0.255

A1=112.5
A2=5.21
A3=0.8=t
A6=469.4
A7=7.88
∆=6.4

UG301−8A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme

Lg=63cd/m2

Lg=6,3cd/m2
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x=logL

AD 26s G 63&6,3cd/m2; hyp2
T*  = A1·Lt / (Lt+A2)
A1=77.73
A2=18.2
A3=0.8=t
A6=1133.0
A7=37.63
∆=0.116

A1=171.9
A2=10.69
A3=0.8=t
A6=1471.0
A7=19.34
∆=1.703


